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1. A={a,b,c}
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(1) Apoint = & & {a},{o}.{c}.{a,b}.{a,c}{b,c}.{a,b,c} 4 2° i

E r[‘ﬁﬁ: it B ={a,b},{a,c},{b,c}

(1@ {a}{o}.{c}{a. b} {a.c}.{b.c}.{a.b,c} # 2° " 2) 3

2. #FX,yeR ’é%f,A:{B,C%x,sz}, B={-6,-6+y,-6+2y} % A=B  [[Ix= Py= o

X=-2,y =9
+ A=B > —6eA:>—6:3xﬁ9—6=3x2(7\ﬁ), f,r['srx:—Z:>A={3,—6,12}=B
—-6+y=3
®? =y=9
—6+2y=12

—-6+y=12 -
®? = YR
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3. #HHEU={123456789, vA={124,6} B={13609}: 3t
1) AuB=
2 AnB=
(3) (AuB)'=
(4) A'UB' = o

0{,2,3,46,9}: (@ {1,6}: 3){57,8 : (4{234,57,89}

(1) AuB= {1,2,3,4,6,9},

() AnB= {1,6} -
(3) (AUB)' =U - (AUB)={5,7,8}, AitEIFLEHE
4) (AUB)=(ANB)' =U-(AnB)={2,3,4,57,8,9} - FiEitLE:H
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= 200 200
(A UA) =N(A)+n(A)~n(ANA) (=214 [ ]—[21‘;°]=66+4o—13:93.
@ n(ALAA)=n(A UA) =200-n(A,UA)=200-93=107 (fii) .
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(1) n (AUB)=40—10=30
n(AUB)=n(A)+n(B)—n(ANB)
30=25+19-n(ANB)=n(ANB)=14( * ) 0 °
A

) n(A)—n(ANB)=25—14=11( *) $
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n(A) =45-35=10, n(B) =45-30=15, n(A) = 45— 20 = 20,

nAUBUC)=nA)+nB)+n(C)-nN(ANB)-nBNC)-n(AnC)+n(AnBNC)
=10+15+25-3-5-10+2=34.
@) n(A"nB'NnC")=n(AuBUC)=nU)-n(AuBUC)=45-34=11.

7. %A={3,5}, B={x|x*-3x+a=0} > =1 51A-B={3} > [la= _
10 E—
A={35}, “ A-B={3}=5cB

Xx=5f{t% x*-3x+a=0=>25-15+a=0, a=-10 .
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X =
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@x" =0,y _16:{ 04142 43,44 1x9=9#
X =+1
@x =1"y*<1 - , H2ox7=1448
=0,11,+2,1+3
X =42
2 y?< R it =141
@ x> =2%y? 11:>{ _04+142.43 , H2x7=1448
X =13
X=F y<I= , #2x5=1048
@ d {y 0,+1,+2 *
) =44 u B
®OXx =4°,y°<0=> 0 , Hox1=24#8
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N(A)=9+14+14+10+2=49
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